BASIC ALGEBRA Exam 1 (One Step Ch 1) FORMS A and B Dr. Rapalje

BASIC ALGEBRA Exam 1A* Name
Show all work on this test or on separate paper! = NO CALCULATORS on this test!

PART 1: (2 points each) Circle your answers!
In 1-13, give the value.

1. 6+4e8 2. 18 +3e2 3. 25

4. 6+4°+(2+2) 5. (-6)(-4) 6. 12=0
7. 0+12 8. 8-(-6) 9.  (-20)-(-12)
10. (-4)° 11. (-1)° 12. -2° 13. (-2 +(-2)°

In 14 - 16, given x = 3, y =-2, z =-5, evaluate the following expressions.

14. y*+7° 15. y*-37 16. X* - xyz

In 17 — 20, simplify and combine like terms:

17.  3x+ 12xy — 7x + 7xy 18.  3x* +3x +9x— 9%

19.  4(7x+5) +3(8x-9) 20.  3(2x—-4)-9(5x + 8)

In 21 — 24, give the complete name of the property used:
21. 8e¢(3+0)=8¢(3)

22. 8e(3+0)=(3+0)e8

23.  8e(3+0)=84(0+3)

24, 8e(3+0)=8e(3)+8e0
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PART 2: (4 points each, partial credit)
In 25 - 37, solve the equations.

25. 3x+12=36 26. -4x-8=20
27.  2(x-4) + 4(x-5) = -52 28. x+12 = 5x+36
29.  2(x-4)-4(x-5)=12 30. 5-2(x+8) =7 - (5x-3)

In 31 - 33, solve the inequalities; graph on a number line.

3la) x-22>3 32. -3x+9215 33. -2<4-2x<10

b) -2<x<6

114



In 34 - 37, give equations and solve the word problems.

34. Six less than twice a number is 4 more than the number. Find the number.

35. Three numbers are such that the second number is twice the first number. The third number is 15
less than the second number. The sum of the numbers is 50. Find the numbers.

36.  The length of a rectangle is 8 more than twice the width. The perimeter is 96. Find the
dimensions of the rectangle.

37. A box contains 40 coins in quarters and dimes. If the value of the coins is $6.70, how many of each
coin are there?

115



Basie Algebrm Exars AA* Solatims

l. 6+d-§ 2. (232 3. 2.5° 4. 644" “(242) r{g,:_&q)
&+ 72 &2 I T R -

G & i ,
6. 1220 = Undefined 8. F-(€) 9. ~20-(12) .m% ﬁ% ‘2, -2

1. 0+02=0 Z+ —2-:-'-+.r:_

@,

12.60% )" 1 ed%en) s 5,1_3,1* 6 73S 17 Hx;rzx ;xﬂxg
4 4 (-5 1+ 25 {hg} 365) 9-30 TN+ Kx
G - Efzi-: = (A3 ordar ol &)

475 =]
18 7233 - - ~
Eﬂ w 1(49) 3 (5x-1) 20 3Cx—) P4

2 x - Gx—t2 —F5K -T2
0 ¥ & x -27
A SETE )

2| Tdentity B additioy 26 prappo3e % —ax-g=20 72 20-4) 14betk 2

22 . Conma ta b fre munl L +F_."E 2X-F+dK-10 <52
23 Comtorn talilre B add . == "5 Cx—2F = -5
- &
24. Distribative @ Q-? > -—-—-;ji‘?;_":%%
;rg*_ ::_zx-p-f;_ =_-g: +36 27 2 (x-4)- 4(x-3)= (2 C:;f)
A%tz - 3L FX-Eqx 2002 —_y
- A —3Ex, + 12 = (2 F0. 5 _o(xr5)= 7- ﬂ—ﬂ
—dx = 24 e 52X~ = 7-SK 43
p—T — - =
. —i =
é"__ﬁi« ' TP
Ha) %-2=3 X _fﬁ
v S o .?m -
Tx z-;ﬁ+g_‘ ThE
R
=]
£ —p g e L 34 5&?‘.1:—:%,
2¥=f= w4
S 3 ._ -
35, Lrv= 1% I:‘%; 1e
1A= A L =i
;xrlgzigm 2 Y+l )= P o o - 2- = +4
K4 2u+2p- 157 5D 20d # 2(2x45) = 9 7 A AL 7
§K—i5= 5T K+ Ax e = T GE 25 )
+u_:,- Y 5,{'1’-% :fé 4.:. e ,-r.:;l to e - :Ej

f 67oF
"'.I"3
S =
g ‘5 ?j TG W 2878
2p-t5= 1 3P0 = 1-'[:!! = 27@

1" {W
Cloclls Sum = 1772641/ = 5D 2{¥%)= ‘j‘é . > 4o

116



BASIC ALGEBRA Exam 1B* Name

Show all work on this test or on separate paper! NO CALCULATORS on this test!!

PART 1: (2 points each) Circle your answers!
In 1-13, give the value.

1. 2+8=+2 2. 20+4 5 3. (2 +5)°
4., 5e F+11-2° 5. 6 (-4) 6. 0=+6

7. 6+0 8. -6—(-6) 9. 2-|-12]
10. -4 11.  (-4) 12. (-3)° 13.  (-2)%-(-2)?

In 14 - 16, given x =-5, y =3, z =-2, evaluate the following expressions.
14, x*-y? 15.  2xy +3yz 16. 22 - X

In 17 — 20, simplify and combine like terms:
17. 5y -6xy —Xxy - 12y 18.  7x%-3x-9x—19%°

19.  4(5x—8) - 6(8x — 9) 20.  3(7x +9) — (5x + 8)

In 21 — 24, give the complete name of the property used:
21, xe(y+0)=(y+0)e(x)

22. Xe(y+0)=Xey+XxeO0

23, 8e(3+-3)=84(0)

24, 8e(5e3) =(8e5)e3
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PART 2: (4 points each, partial credit)
In 25 - 37, solve the equations.

25. 4x-8=32 26. -4x+12=20
27.  5(x-4) +4(3-x)=-20 28. -X-12 = 5x+36
29. T7-(x+4)=10 30. 5+2(x-8)=7-(3-5x)

In 31 - 33, solve the inequalities; graph on a number line.

3la) 2x+62>2 32. -2x-4>-8 33. 6<9-3x<15

b) -4< x<2
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In 34 - 37, give equations and solve the word problems.

34. Five less than four times a number is equal to 35 less than twice the number.
Find the number.

35.  Two consecutive odd numbers are such that twice the second, plus three times the first, is equal to
29. Find the numbers.

36.  The second side of a triangle is twice the first, and the third side is 10 more than the second side.
The perimeter of the triangle is 70 feet. Find the sides of the triangle.

37. A box contains nickels, dimes, and quarters worth $12.60. The number of dimes is 2 less than
three times the number of nickels, and the number of quarters is 4 less than twice the number of
dimes. How many of each coin are there?
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